Alternate Solutions  (4.7 )
Maximize Z =   x1 + x2



    x1  +    x2  < 20



     x1  
  < 10

Simplex table: or

z     x1     x2     x3     x4     rhs    BV               Solution (0, 0, 20, 10)

 1   -1    -1     0    0     0


 0    1     1    1     0    20      x3      

 0    1     0     0    1    10      x4        

   
       (    (

Can introduce  x1   or  x2     
Suppose you  make x2  basic, removing x3     
z     x1     x2     x3     x4     rhs    BV               Solution (0, 20, 10, 10)

 1     0    0     0    0     20


 0    1     1    1     0    20      x2      

 0    1     0     0    1    10      x4        
Could introduce x1  and not change the objective function
